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Sustainable tourism aims to support local communities socially and economically whilst

o causing no harm to the environment e.g. small scale lodge developments employing local
LY people and using local foods in Kenya.
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(a wide base), to good healthcare and more elderly people (a wide top).



Economic and Industrial Change in Nigeria

Economic and Industrial Change in the UK

Background Context

* Nigeriais a former colony of the UK that can be found in West Africa. Itis growing rapidly as a country
both economically and in terms of population. Many people around the globe think that Nigeria could be Africa’s global
superpower if it can overcome the many problems that limit its development.

* It already has the continent’s biggest economy, a huge military budget and is active in the West African and African
continent.

* By 2040 predictions are that;
¢ Nigeria will be the fourth most populous country in the world after India, China and the United States with population
projected to grow from 170 million to 320 million by 2040.
* Gross domestic product (GDP) is projected to grow from $525-billionin 2014 to $4.2-trillion by 2040.

Nigeria’s Employment Structure Industry

The Importance of Manufacturing to Nigeria
The Dangote Cement Company provides 4,477 people with jobs, if they are working they are

Agriculture 31% paying tax. Last year the company made $201bn in profit, the Nigerian Government will earn
some of this money in tax. The nature of the product means it is hard to import and so Dangote
Mamufacturing 14% have a captive audience. The quality of lives of workers will improve, leading to the multiplier
effect. There is a ready supply of materials to help meet the significant construction demands
Services 55% of a country undergoing industrialisation.
Changes to the service industry
China’s Over 115 million mobile phone users means a massive growth in the Telecommunications
Involvement Industry. Retail and wholesale: Lots of former informal workers are now legalising their
In Nigeria businesses and contributing to the formal economy. The Nigerian Film Industry, Nollywood is
>S>>>>>>>>>

now the 3" Largest film industry in the world, after Hollywood (US) and Bollywood (India)
W

TNCs in Nigeria: Shell

TNCs are attracted to Nigeria, particularly oil exporters for a number of reasons:

The presence of crude oil (unrefined) and gas. / A large supply of cheap labour available /Little competition from
Nigerian firms for the land, so it is incredibly cheap / Unstable political leadership who are open to corruption /
Coastal region, easy to export products to the West.

Economic: Environmental :

6000 employed directly / 20,000 - Bunkering takes place whereby oil is
employed indirectly / 90% of staff stolen and leaked into the

are Nigerian. environment.

Provides microcredit schemes to - Flaring occurs where excess gas burns
low income families to help with off causing danger.

development. - The Bodo oil leak left 6000 litres of Oil
Profits are not retained in Nigeria in the mangroves that people rely on.

Social:
- Shell provide improved access to -
community health facilities.
- Every year Shell provides 3000
scholarships to students. -
- Provides access to running water
and electricityin homes.
- The benefits are not universal. -

Aid to Nigeria

In 2013 the UK became the first G7 country to meet the United Nations target of spending 0.7% of gross national income on
international development via aid. The Department For International Development of the UK Government believe that a “peaceful,
more democratic and prosperous Nigeria, meeting the basic needs of its citizens, is possible within a generation.” This is where it
has focussed its aid. Nigeria will get £1.14 billion of UK overseas aid over the five years from 2013.

DFID gave £50m to provide life saving malaria nets to Nigerians / 4.3 million women received nutritional support during maternity /
481,000 additional child places were provided in primary schools / 5.5 million people have an improved access to sanitation, water
supply and waste disposal / 40 million people voted in the electionsin 2011, 5 million more than last year.

Impacts of Development in Nigeria

* Improvements in quality of life

* Expected years of schooling has risen from 6.7 to 9.0

* Life expectancy has risen from 45.6 to 52.5 (in 2013)

* GNI per capita has increased from $4,259 to $5,353

* HDI Score has risen to 0.504 (not great but improving)

* Education programmes are improving, therefore skilled workers are
increasing and

Further reading on the
Impacts of developmentin
Nigeria >>>>>

Industrialisation took place in
the UK during the 1800s.
Most early manufacturing
industry took place in areas
with coal fields which
provided energy. This was a
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Industry in the North East of England was characterised by heavy industry, including coal mines, iron
and steel industry and ship building and petrochemicals. As raw materials were used up, and it became
cheaper to produce steel and ships abroad, these heavy industries fell into decline.

The ICI plant in Middlesbrough closed making 30,000 people redundant. The Easington colliery (coal
mine) closed in 1993 making 1400 people in a town of 5,000 unemployed. A lack of transferable skills

made it hard for these people to find jobs.

De-industrialisation has many socio-economicimpacts.

De-industrialisation is the decline in secondary (manufacturing)
industries, and the subsequent growth in tertiary and
quaternary employment.

The UK has experienced de-industrialisation changinginto a
post-industrial economy; with more tertiary & quaternary
industries. Secondary industries has moved to cheaper
countries e.g. China.

High unemployment leads to the decline of services in affected areas. Reliance on benefits leads to a decline in housing quality. Life
expectancyin de-industrialised areas is lower than the national average. Average GCSE grades are also lower in these areas.
SSI Closed down, 1,700 jobs directly lost. Unemployment rate in Redcar rose by 16.2%.

Modern industrial developmentsin the UK

For years the UK thrived due to its secondary industries. However it is now a post industrial economy; one where most
manufacturing jobs have been replaced by jobs in the service industries. A new sector that is growing rapidly is the quaternary
industry. Quaternary jobs are those that involve highly skilled people who carry out research, provide information and give advice

e.g. financial advisers, research scientists.

The Cobalt Business Park, Newcastle

* The business park is home to many tertiary industries such
as: North Tyneside Council, EE, Santander and other call
centres.

* 20,000 people are employed within the park and this is
continuing to grow over time.

* Over 1,000 busses visit the site each day, this is significantly
higher than the car usage.

e The parkis setin 95 acres of land acquired by the Tyne and
Wear Corporation

The Business Park has a fully integrated system of cycle routes
and a wildlife reserve built within the park.

Amenities on site include leisure

centres with gyms, regular public

transport, hotel chains, restaurants, cinemas, shops and
child-care facilities.

The North-South Divide

Most areas affected by de-industrialisation are in the north and west of the UK. The areas of industrial growth tend to be
in the south and west. The divide has led to social and economic differences. Unemployment in the north east is 5.5%
higher than the south east. Average pay is £4,000 higher in the south and life expectancyis 2.5 years longer.
In attempt to reduce the differences between the north and south governments have supported a number of schemes.

HS2 / HS3

HS2 and 3 are High Speed rail links that will run from London to
Birmingham, and then on to Manchester and Leeds.

Benefits - reduced travel times to the north will encourage the
location of industry in the north. 100,000 jobs will be created.
Problems - The scheme will cost over £50 billion, lead to 600
homes being demolished, and 150 nature sites being affected.

Other UK Transport Improvements

Liverpool2 Dock

Cost £300 million to double ports capacity to 1.5 million
containers a year.

Boosting the economy in the north west and reduce amount of
freight traffic on roads.

Roads

£6 billion will be invested in northern roads to reduce
congestion.

Benefit - This will encourage industrial location as it
will reduce the cost associated with longer transpg
times.

Problem - We should be discouraging road use.

Heathrow Expansion

Heathrow is operating at full capacity with 480,000 flights each
year. A third runway, costing £20 billion will allow more flights.
Benefit - Encourage more industry to locate in the UK.
Problems - Cost, noise pollution and one village demolished.



